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IInntteerrmmeeddiiaattee  PPaarraaggrraapphh  CCoorrrreeccttiioonn  77  
 

DDiirreeccttiioonnss:: Read the passage below. Then answer questions about errors in the passage.  

 

                                                                                                                                                                                                                                                                                                        

    My 1) brother in law is an actuary for an insurance company. He works with statistics every day. He 

is extremely organized. He takes the same items to work every 2) morning a lunch bag, a thermos 3) 

with coffee, and his briefcase. His lunch bag always contains the same things: 4) an apple raspberry 

yogurt and a tuna salad sandwich. He always 5) carrys the same items in his briefcase: his insurance 

documents, an extra tie, and an extra pair of socks. He takes the same route to work every day: down 

First Avenue to the Interstate, Exit 246 to Dodge Rd., and right on Dodge Rd. to the insurance company. 

6) At work, he follows the same routine every day. After work, he always forgets 7) where he park his 

car. 8) I guess it helps to be very organized when you are so forgetful!

 

1)  

A. brother-in-law 

B. brother-in law 

C. brother-inlaw 

D. brother in-law 

 

2) 

A. morning; a 

B. morning: a 

C. morning, a 

D. morning. A 

 

3) 

A. and 

B. of 

C. full of 

D. Either B or C would be correct. 

E. Correct as is 

 

4) 

A. an apple, raspberry yogurt, and 

B. an apple; raspberry yogurt; and 

C. an apple - raspberry yogurt - and 

D. an apple, raspberry yogurt and 

E. Both A and B are correct. 

F. Both A and D are correct. 

 

5) 

A. carres 

B. carryes 

C. carries 

D. caryes 

E. Correct as is 

 

6)  

A. In work 

B. In a work 

C. At the work 

D. Correct as is 

 

7) 

A. where he did parked 

B. where did he park 

C. where he parked 

D. where did the car park 

E. Correct as is 

 

8) 

A. I, guess it 

B. I guess, it  

C. I could guess it 

D. Correct as is. 
 


